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This question paper has ONE printed page and THREE parts
Part A: Answer any TEN of the following 					          2x10=20
1. “If a public good is provided by voluntary contributions, too little will be supplied relative to the efficient level”. Why?
2. What is a Clarke tax?
3. State the Arrow’s impossibility theorem.
4. List out the important assumptions of Tiebout hypothesis.
5. With the aid of a diagram explain the concept of displacement effect.
6. Distinguish between transfer and non-transfer expenditure.
7. Define social discount rate.
8. Distinguish between impact and incidence of a tax.
9. Mention the arguments concerning GST as a challenge to co-operative federalism in India.
10. Define crowding out effect.
11. Distinguish between programme budgeting and zero based budgeting.
12. State any two principles of fiscal federalism.

Part B: Answer any TWO of the following						10x2=20
13. Show that the Lindhal process of public good allocation is Pareto efficient. 
14. Explain in detail the various steps involved in Cost Benefit analysis of a public investment project.
15. Give an overview of the union budget of 2017-18.

Part C: Answer any TWO of the following					15x2=30
16. Consider a situation where a firm is creating negative externality. In this scenario explain which policy is more efficient among tax and regulation. Also discuss the welfare effects.
17. State and explain the various theories of taxation. Discuss the modern theory of shifting of tax burden.
18. Write an essay on Federal finance in India. Critically evaluate the 14th Finance Commission report.
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